Math Score (Y) vs LSD  Concentration (X) – Matrix Approach  


[image: image1.emf]X(Conc) Y(Score) X Y X'X X'Y

1.17 78.93 1 1.17 78.93 7.00 30.33 350.61

2.97 58.20 1 2.97 58.20 30.33 153.89 1316.66

3.26 67.47 1 3.26 67.47

4.69 37.47 1 4.69 37.47 INV(X'X) Beta-hat

5.83 45.65 1 5.83 45.65 0.9782 -0.1928 89.12

6.00 32.92 1 6.00 32.92 -0.1928 0.0445 -9.01

6.41 29.97 1 6.41 29.97

P Y-hat=PY

0.5880 0.3346 0.2938 0.0926 -0.0678 -0.0918 -0.1495 78.58

0.3346 0.2255 0.2079 0.1212 0.0521 0.0418 0.0169 62.37

0.2938 0.2079 0.1941 0.1258 0.0714 0.0633 0.0437 59.75

0.0926 0.1212 0.1258 0.1485 0.1666 0.1693 0.1759 46.87

-0.0678 0.0521 0.0714 0.1666 0.2426 0.2539 0.2812 36.60

-0.0918 0.0418 0.0633 0.1693 0.2539 0.2665 0.2969 35.07

-0.1495 0.0169 0.0437 0.1759 0.2812 0.2969 0.3348 31.37

 

(I-P) e=(I-P)Y SSResid

0.4120 -0.3346 -0.2938 -0.0926 0.0678 0.0918 0.1495 0.35 253.88

-0.3346 0.7745 -0.2079 -0.1212 -0.0521 -0.0418 -0.0169 -4.17

-0.2938 -0.2079 0.8059 -0.1258 -0.0714 -0.0633 -0.0437 7.72 MSResid=S^2

-0.0926 -0.1212 -0.1258 0.8515 -0.1666 -0.1693 -0.1759 -9.40 50.78

0.0678 -0.0521 -0.0714 -0.1666 0.7574 -0.2539 -0.2812 9.05

0.0918 -0.0418 -0.0633 -0.1693 -0.2539 0.7335 -0.2969 -2.15 S

0.1495 -0.0169 -0.0437 -0.1759 -0.2812 -0.2969 0.6652 -1.40 7.13
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		X(Conc)		Y(Score)				X				Y				X'X						X'Y

		1.17		78.93				1		1.17		78.93				7.00		30.33				350.61

		2.97		58.20				1		2.97		58.20				30.33		153.89				1316.66

		3.26		67.47				1		3.26		67.47

		4.69		37.47				1		4.69		37.47				INV(X'X)						Beta-hat

		5.83		45.65				1		5.83		45.65				0.9782		-0.1928				89.12

		6.00		32.92				1		6.00		32.92				-0.1928		0.0445				-9.01

		6.41		29.97				1		6.41		29.97

		P																Y-hat=PY

		0.5880		0.3346		0.2938		0.0926		-0.0678		-0.0918		-0.1495				78.58

		0.3346		0.2255		0.2079		0.1212		0.0521		0.0418		0.0169				62.37

		0.2938		0.2079		0.1941		0.1258		0.0714		0.0633		0.0437				59.75

		0.0926		0.1212		0.1258		0.1485		0.1666		0.1693		0.1759				46.87

		-0.0678		0.0521		0.0714		0.1666		0.2426		0.2539		0.2812				36.60

		-0.0918		0.0418		0.0633		0.1693		0.2539		0.2665		0.2969				35.07

		-0.1495		0.0169		0.0437		0.1759		0.2812		0.2969		0.3348				31.37

		(I-P)																e=(I-P)Y				SSResid

		0.4120		-0.3346		-0.2938		-0.0926		0.0678		0.0918		0.1495				0.35				253.88

		-0.3346		0.7745		-0.2079		-0.1212		-0.0521		-0.0418		-0.0169				-4.17

		-0.2938		-0.2079		0.8059		-0.1258		-0.0714		-0.0633		-0.0437				7.72				MSResid=S^2

		-0.0926		-0.1212		-0.1258		0.8515		-0.1666		-0.1693		-0.1759				-9.40				50.78

		0.0678		-0.0521		-0.0714		-0.1666		0.7574		-0.2539		-0.2812				9.05

		0.0918		-0.0418		-0.0633		-0.1693		-0.2539		0.7335		-0.2969				-2.15				S

		0.1495		-0.0169		-0.0437		-0.1759		-0.2812		-0.2969		0.6652				-1.40				7.13
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